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(i) Bog @ yd»Ocd BEnyd wwwsim.
elsbeun elleMmSEEHEGL alen. HHs.
Answer all questions.

(ii) 1-40 e gdmOR (1),(2),(3), (4) BExCOB= B CE el Dtndt vigevm ewd BERS enidh vzim.
1 gpssv 40 suenyuisiien @subaurg eflsmnellgutd (1),(2),(3).(4) een aemeniliu’ L el seflsd sflmang
Sisveugl WS QUTESHSIOTENE! 660 BRIEsT SGSIWD @6 olvLowd Gsflabsiis.
From each of the questions 1 o 40, pick one of the alternatives (1), (2), (3), (4) which you consider
is correct or most appropriate.

(iii) @220 wweun Bt vyed o & ydme vgw & 4B 2D gnedsl 28 onich o B8nel guped B1BeTm
=bo ne (X) cue ewmsin.
2 wEE auphsUUL@eien el Ssreflsd @aiCaurp aloradéey o flu el Lkselsy 2 gl
alenLuilehl QEssms @bs ol LSHgusiBsn ysemgenw (X) B6Gs.
Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.

(iv) 0@ 88no vned Biue & 418 gens cueed ¢ teBEcd osim.
el gareflen UbusssSsd UL BeieT BB SHanISHHE0EMENLL SaeoTe: suTdgha SehenmL
Webmis.
Further instructions are given on the back of the answer sheet. Follow them carefully.

1. Z &8 64000 H10t 080 SBdesiocs qmiedier’ svn wews! $:823 083 ¢?
sruU@sien Az @Be Flwunen oy HeGmrsr Udnimaetabpet g2
Which of the following is the correct time signature to the given rhythm?
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2. § qiB @b O e:8les 8000 00 wgenm 0dtid Dxfort vvm tewms’ DB 90 ¢?
SIUULBaen Ly Bl WiHd Qelaghe sl GLT@Ssw0Ten Qredl araimeusiabuet s1g?
Which of the following would be the most suitable rests to complete the given bar?
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3. B O Buo 1B B Bdextdcn swun wewst 0828 oz ¢?
Heiteumle & HsCmasisenst ag Ffluns spsiu Gsieng?
Which of the following key signatures is written correctly?
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4. D 00oriDs 08nY 8 d88wxid on gedine BEEDRD v 6w 08T @i ¢?
D Gioevigd soweny Beit sLbigwisiih B y@yraem Bemev Lishaumausneupmien 617
~“Which ofthe following is" the ‘submediant of D melodic minor ascending form?
() G flat (2) B natural (3) B flat (4) G sharp

5. 06000 5t @uiodE ems ocw Bund me vySers swum tgsl SHBE RO ¢?

@a0usitigl. 5 @ Balras oo olufléss smows Useumasiaibpe si?
Which of the following can be described as an Augmented 5™ interval?
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6. s8emsd 4 @uiodE tors euidbnsl O vy ©gws’ TOI8sT O ¢?

CuiGusL. 4 @1 BeaCroucdmenst BBaFsT b Sienoaiml LisdumesneuBusT 617

Which of the following intervals would be the inversion of a Perfect 4™ interval?

(1) Diminished 5% (2) Perfect 5™ (3) Augmented 5" @ Major 6™

7. A®SxmY neld guldlns dex eD®n=id Jud On sun tgws SD8s @ ¢?

Uehiaumld Lyl senet aim A enos] aereis Seajsar Gt GLmiseplywul QEn?

Which of the following triads is the Dominant triad of A minor first inversion?

M E o — ——0 = o ===

8. wwm wcws dH8s cusldedss dedcas dxler @2 ¢?
QueByrefis ebBasd s Ddwag UseiGasTubpst ag?
Which of the following would be a pentatonic scale?

== o I
[ | -
el { —
e E=——===

9. 2 g18 tdOced Oslme Sy eIBOcs0 On vun wewsd ED8s e ¢? i
SIiuCL sbeurseiisn ereiapryGuoneis Fh@aisveh Uetaimameanmet 6g? S
Which of the following would be the enharmonic equivalent of the given note? PP
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10. £8086 Qud oS exbded vy» wews’ SH8s @S ¢?
Henmop Lywl @emns Siemownsgl Uesumh LIwWLsEnsT g ?
Which of the following triads is not a Primary Triad?
1 v 2) VI 3 I 4 v

11. 2@ exOsis 60 DO OEEDD LMIRG WD e D827 @ ¢?
SILULL &CLaed @b Wl QUIGhSHamgul Gapn shaumeauamsabpst sg?
Which of the following statements would suit this cadence most? -
(1} Plagal Cadence in A flat major
#ﬁg (2) Full close in F minor
v g | (3) Amen Cadence in F minor
(4) Imperfect Cadence in F minor
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12. @800 Dussas ¢Demed & 0nit MBS ol Eedsient o wgws’ SDls RSB ¢?
Fads arsedusdsr BnFHulsd LwELBHBULLTE &8s deumaaeubmsh ss?
Which of the following cadences are not used at the end of a musical sentence?
(1) Interrupted Cadence and Imperfect Cadence
(2) Perfect Cadence and Plagal Cadence
(3) Imperfect Cadence and Perfect Cadence
(4) Imperfect Cadence and Plagal Cadence

13. ©e02%00 OO e®gsl Beind HOD YING YD egwsy S8 82 ¢?
Viss Aptuts GeGmpprene efufiiug Udeimh Sapuisens 6g?
Which of the following statements best describes a sonata?

(1) An introduction to a more important work

(2) A work in 3 or 4 contrasting movements for one or more instruments

(3) A work in variation form

(4) A work in 3 or 4 contrasting movements for Orchestra

14. ediseds end® vom 0 credn cvaics dler! vy 3w CD8sS 8= ¢?
‘QgrenBLr Guri’ Bsd sremiuGas UsisuGd e sEnet 6157
Which of the following features is found in Rondo form?
(1) Episode (2) Transition or Bridge passage
(3) Recapitulation (4) Development

15, 3536 2300000 s Dries’ vvn wgwsl SHBs O ¢?
Uehaumausraubuusit o1& @m oofit Garley siGwn?
Which of the following is a String Quartet?
(1) A Violin, a Viola, a Violoncello and a Double Bass
(2) Two Violins, a Viola and a Double Bass
(3) A Violin, two Violas and a Vicloncello
(4) Two Violins, a Viola and a Violoncello

16. om0 @uftony eoBm giss 1@ ¢ 2905 dbon o tgws SH8 R §?
C eieumh BMS umssHEns aa oL @hsu Bosuls CFoarédse - LulgGEEDnSHI?
Which of the following types of drama is influenced by North Indian Music?
(1) Nurthi (2) Nadagam (3) Sokari (4) Kolam

17. 3858 eni® deonzd By A S8swn SBRd: eee censies’ twn egwsl SOBsl @ ¢?
SIUULL @& 2 mUUgSERsT ‘usd Cuijd’ Bd SILEGL SiaIHE PLAORESMMBID GO Fal LIOTHD
sESILGE Udiimpaamapre ag @n? _
Which of the following compositions consists of a group of dances all in Binary form?
(1) Surprise Symphony (2) Messiah
(3) Water Music Suite (4 William Tell Overture

18. & g8 2e300 enSows’ ¢ e tun wgws RO BHOHO dewss ¢?
Ueoumid giseGepsenst an Bmesstul L wrgflewd JydildssauiuGsssing?
Which of the following ornaments represents the played version given below?
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19. g 088 8 30 S ¥ vEH So» OO v wgws D18 e ¢?

- g efih - @sd D-(3L6). - gaiagid ushab g Quuoreand Usiamastapmpiet &g?
Which of the following would be the value of a beat and a pulse in glime?
(1) Crotchet beats and Quaver pulses
(2) Dotted Crotchet beats and Semi Quaver pulses
(3) Semi Quaver beats and Demi Semi Quaver pulses

(4) Dotted Crotchet beats and Quaver pulses

20. e©® 2B 6w ewigr Ol eRCH suD wewsd SHiBE e &?
Usiieumd Cosmmuisemst omeliCan Bio CErHdsy uTBausiel LWEUGSSILGE 6157
Which of the following drums is used to accompany harvesting songs?
(1) Bummadiya (2) Getabera (3) Udakki (4) Rabana

21. »beidn wdned & ewig oxim gl edds RO ¢?
SIHILE FREHSHH0 LWeLGSSUILGD Ursren Guwenp Usisupeiansubush sigh?
What is the chief drum used in Karnatic music?
(1) Tabla (2) Maddala (3) Mrudangam (4) Thammattama

22. (000 aiSnlous Dxies’ twn egpst 991823 9oz ¢?
LENsUETL B FLRIGSEHET GmTs Siemoag Usameensinper 6?7
Which of the following is an upcountry Ritual?
(1) Kohomba Kankariya (2) Pahan Maduwa
(3) Devol (4) Gammadu

23. B oS D g B0 8ud © n nBLHEDED ehulm Bwien! eohE O vun tgwsl S8 o ¢?
Ueiteumid WwnBenm GULsLGEHST 61360 G & @enen SiWHHIDBUTE sledeor efiRvEEHD SFTabEe 2 senT@Gb?
Which of the following piano pedals let all strings vibrate when a key is depressed?

(1) Sostenuto Pedal (2) Soft Pedal (3) Damper Pedal (4) Una Corda

24. qoon goacs Dfer vwn eeps JOBs RO ¢?
Uehiumeuameummistt HOUDTen dabmi 61e?7
Which of the following is a false statement?
(1) The Trumpet is a fransposing instrument.
(2) The Clarinet is a double reed instrument,
(3) The conductor uses a music score and a baton.
(4) The concertmaster plays the 1% Violin.

25. oog @ 858 wicrn vexs dxies sum senz D182 e &?
e gaaflar sNphs UTBL Grmeusd Caraim g Ussimaaeibue 61817
Which of the following is the lowest type of a male singing voice?
(1) Bass (2) Soprano (3) Alto (4) Tenor

26. 9uBmun D o glediierd vwn wgwsl I8z pOBxt ¢?
auiLiellst @eamilsh Hmbs aofiried sremiLBas Usaimeusrsuipiiesy a0 a@h?
Which of the following are the open strings on a violin?

0 2 o @ —

13 lg I

A v o
3 £ == @ é e
()] et [

27. & od. v30C B8 B mg @cedifun dx¥er sy gwes JOBs p®u ¢?
@t groprieunaess as gf.eel. apmoLsd @emsd QueEsuulpmSSEnE?
Which of the following oratorio is composed by G.F. Handel?
(1) Christmas (2) Solomon (3) The Mount of Olives (4) St. John Passion

28. Bwenid HBuedy IR0 vun gy RO goedd ¢?
feiteupd srsumisEnsit erdled hwunBenm sem® igdsiulLg?
In which of the following periods was the piano invented?
(1) Baroque (2) Classical (3) Romantic (4) Modern
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29. ouon egsd HBuwdsl grneds’ ‘Bid 8r dd088’ ece WG § wBowgw yo’ ¢?
SITUC L @eFwenloluTeIsenst ‘En @al grhern’ e Spflwiuipmlusy wig?
Which of the following .composers was named.as the ‘King of Ragtime’?
(1) Bartok (2) Britten (3) John Adams (4) Scott Joplin

30. 2014 @ § Eomed yeonws gifus me Fo-41@0mim wBnrw cwn LS guens’ WY ¢?
2014 qup B Bevrsuisy @aeime apnd #H6iés - biofise Bmaasigia) UeeimBsaurgst wij?
Which of the following Greek-American musician performed in Sri Lanka in 20147

(1) Turnage (2) Yanni (3) Negron (4) John Adams

3. eDumistd edenidnm Digmn D¢ Vi wwg © Dt By gps FHBS 8 ¢?
paran CrstsrLfls @mesassds HND cHaFd 5 Smwag Lsaumasabpst 6s?
Which of the following is the lowest note that can be played on a Descant Recorder?

) )
() @ &5 ® E @
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32. 608 Drdmbied ‘@BOGE emided’ mBu grivlion Pencd swn g0 TOls 8z ¢?
fésmil. austanflsn ‘UengLsd Gamred’ Qéssmssd Leraiigmseh guUeLrT Ldamssmampst ag?
Which of the following Opera of Richard Wagner has the composition ‘Bridal Chorus’?

(1) The Flying Dutchman (2) Lohengrin

(3) The Ring (4) Tannhauser

33. oFe0wd »BBH 2562 v gries svn egp 01828 OH LBoded ¢?
SINULL abamsEns Crsaagbe 256 siBiameis Wigpemend OaramiLg asumaesubpist eg?
Which of the following notes has the frequency of 256 vibrations per second?

=
e — o F=| = @

34. oF8. e Anded 48 ey 5w Byude miBed e.d8n £S08E On sun el SOlss o ¢?
Bm.eteb.nd @eng 48 Ufgniet wipw Jysat Qe @osulom gHp @msl urtedl Useumesabpen 6g?
Which of the following style of music is evident in the music of J.S. Bach’s 48 Preludes and Fugues?
(1) Homophonic (2) Polyphonic (3) Monophonic (4) Dodecaphonc

b=

35, Demegdn Digms e ¥S Dfes’ vun 0’ SOi8sS @ ¢?
gaaopt (Usbellwib) geaiflamsd @Qensssssses Uasumaaieibpst 65?
Which of the following is performed by an Orchestra?
(1) The Flute Quintet (2) Piano Sonata (3) Aria (4) Violin Concerto

® 36 80 40 ¢z I som & @18 o DeEdw Bn Bem® 0.
36 Ggndab 40 ausmyuwsien eflendset eiauph @ensll GULITUIML SIQUUMLWISES CSTEIIL 6.
Questions 36 to 40 are based on the given extract of music.

Moderato 2 3 4 5 ¢ Haydn
/_.'_—}\ — 34 o — ®
% EEIEEEEET = =E= ﬁ
ST o
mf = v NG f P

36. 2 18 e:8» dedded @03 O8mY O swm wgpxsd D18 o ¢?
SuulL @ensll Guwjinisd fGsumnisy smweny Usieumpeusneubpish s1gi?
Which of the following is the relative minor of the given extract of music?
(1) F sharp minor (2) C sharp minor (3) B minor (4) G sharp minor

7. 098 w8p Pedled ¢18 OO O s egws DB e ¢?
@bz @msulsd U giebweanbeenst ex sTemiLBEDS?
Which of the following ornament is found in the music?
(1) Trill (2) Mordant (3) Turn (4) Arpeggio

[ 655 00 Deow. / uk. 6 U Uds Eéepag_eé
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38. 4 9z Qb derd FucO Ve DT vun CHz! I8 e ¢?
uri 4 @61 fuGeoh genfier GQuponend Ulsaimealensubmist 6187
Which of the following is the value of the triplet in bar 4?

» N @ ® 4. @

39. b 18 418 oef oD O son wgwst S8 o ¢?
urjf 1 Qexeien 1 syeng Banl Ueisumeusnsubmiel e1g1?
Which of the following is the Ist chord in bar 17
(1) Supertonic chord in F sharp Major (2) Mediant chord of C sharp Minor
(3) Dominant chord of E Major (4) Tonic chord of E Major

40. 2 418 ©.8n deddn By w.Buwuied @mBmanst Bus wgwsl guens’ N ¢?
Gt QenFd HIILHHe FlosTen andCawustiser (QbGaysst) NeeaumCaurmsn wireuy?
Which of the following are contemporarics of the composer of the given extract?

(1) Mozart and Beethoven (2) Bach and Handel
(3) Scarlatti and Mozart (4) Mozart and Handel
s 3k
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